XDFHE 1

1L ROEEE LS, ~
(1) 4a—"Ta \ (2) 5x+ 2y + 6x—8y

= - J& = 124y
(3) 6zy —3z+2z+ 5zy 4) 4a’—9a—1+6a —5a?

= Ifx)-X =-Aa-3a-)

2. ROFEZ LR EW,

1) (6 + 2y)+ (— 2z + 4y) 2 (a—23b)—(a+3b)
= 62429~ 2+ 4} =&-3b-G-3b
= 43 +67 = bb

3 (x2—2z—2)+(4z’+4z+1) @ (a’+3a—1)—(a?—3a+4)

=H-00-244H4Lt] = A 301 Q%% 304
= X% 72X =64-5
() 42°+ 32z —1 6) Sz+3y—2
+) 5z’—6z—5 —) —2r—>5y +4

9 =3 6 1X+8Y—6



SROFE 2

s, ROREE LRIV,

(1) —3(4z—3y) @ (e—20)x(=4) @) (Oz—6y)+3
= - 4448) =3X-24

=-12X+9}

4. ROFHEZ LIRSV,

(1)

(3)

—
-

——
—-—

3(z—2y)+ 3z + y)
=3-6Y 431+9Y
= X3

—(m +3n)+4(3m +n)
-M=-3R+[2m+4R
[Im+n

5. ROFEEZ LIV,

@)

\

it

I

2r—=3y x+2y
2 4
2(2x-3y) — (X+7%)
4
4)X-44 - x-24
4

X-3%
4

@) 3(2a+5b)—2(a—3b)
= 6A+Sb-76+6b

:4&1‘2”7

4) 3(x2—2zr)+22r2+6x—1)
3= X -2

= QLHEA-2

2a —b a+3b
2) 3 +—
4Ga-b)t3(ar3b)

{Z
ga-tbt30+9h
- {z
_ ]la+5b

= |2




- ROFHE 3

6. ROREE LR SV,
(1) 2ax(—4b)

= -%ab

7. ROFHEE LRIV,
(1) 12zyz +(—2yz)

__ d2xg2
2y2

:-—-é;(

8. RDOFEZE LRSIV,
(1) 2z X 6xy =3y
— 22X §17
34

2

(3) 8x*+4x®X(—3x)
__ BOK3X
4A°
= — 42

:—ZE

) (=3y)xby (@) (—2)x(=2
= _Igyz

= -2 41

2 (—6adb?)+3ab _(3) §x3y+<__4_xz>
_ _bab’

9 15
36b _ BXIXE
g Xax*
__ X

(2) 12ab+8a X (—2b)
- 126.b x2}
&

=—-3b

4 12a%°%+(—3ab)+a
_ o _a&lh
3ab X &

= —40b



SROEHE 4

O, RDOFEZE LRI,

a+3  a—2b Sr—3y 2x+y
1) 7+ ,,__ 2) 5 3
e 3lagsbrzla-2y 2- 3y 2(22ty)

L - ¢

_ 3at9ht26-4b _ Seas-atyy
6 . 5

_ texSh — X359

T 6

v—

P c(a4zb)+ala-2b) 3(ex-3g)- 202049
20 S 12
15a.¢ fob + 42-8b
= . _ 6X-G9-4n-iby
[96.+1 b j
T =213
= 5
_ 2(2a-b)=(a-3b) _ 2(0a42p G2y
- 4 )2
40-2h ~Qt3b | 64yt
4 12
36.tb _IXted
4 - Tz
Ht2Y

4.



